> restart;

> eql :

area = (Pi-(1/2)*theta)*rhoA2-(Pi-(1/2)*theta)*rho0A2;

aﬂr=ama=[17—%9]p2—(1T—%er02

(2*Pi-theta)*rho = 2*Pi*R;
eq2:=2m-0)p=2T1mR

(2*Pi-theta)*rho0 = 2*%Pi*r;
eq3:= Q2 m-0)p0=2T"

rhoO+dh = rho;
eq4:= p0 + dh=p

(R-r)A2+dxA2 = dhA2;
eq5:= (R- 1)° + dx° = dh

2

solve({eql, eq2, eq3, eq4, eq5}, {area, theta, rho, rho0O, dh});

s:= | p0 = RootOf(_Z° - r® + 2 Rr- R® - dx°, label= _L2) r
- B R-r ’

RootOf(_Z2 - r2 +2Rvr- R2 - dxz, label= _L2) R
p =
R-r

. 2(—Rooﬂ)ﬂ_22-—r2 + 212r—.R2—-dx%labeh:_L2)+_R— r) T

RootOf(_Z2 - r2 + 2Rvr- R2 - dxz, label= _L2)
area = RootOf(_Z2 - r2 +2Rvr- R2 - dxz, label= _L2) 1t (R + 1),

dh = RootOf(_Z2 - r2 +2Rvr- R2 - dxz, label= _L2)

> subs(S, area);

ROOtOR(_Z°% - ¥° + 2 R¥r- R® - dx°, label= _L2) T (R + 7)



